OPM 301



Exam 1 Review

Forecasting:
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Quiz 

1.  Zeus Computer Chips, Inc., used to have major contracts to produce the 386 and 486- type chips.  The market has been declining during the past three years because of the pentium type chips, which it cannot produce, so Zeus has the unpleasant task of forecasting next year.  Here is the demand over the past 12 quarters.

Quarter

1994

1995

1996

I

4,800

3,500

3,200

II

3,500

2,700

2,100

III

4,300

3,500

2,700

IV

3,000

2,400

1,700

Use Excel spread sheet to set up time series analysis for forecasting the four quarters of 1997. Include seasonal variations in your forecasts. 

Calculate the MAD and the bias if the actual for 1997 was as follows:

	1997
	Actual

	Q1
	2000

	Q2
	1400

	Q3
	1600

	Q4
	1000


Linear Programming:
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Home Work
Quiz 

2. Investment Advisors Inc., is a brokerage firm that manages stock portfolios for a number of clients.  A new client has requested that the firm handle an $80,000 investment portfolio.  As an initial investment strategy, the client would like to restrict the portfolio to a mix of the following two stocks. (Use Excel Solver)






Estimated Annual

Risk

Stock

Price share

Return/Share

Index/Share

U.S. Oil

$25


$3


0.50

Hub Properties
$50


$5


0.25

The risk index for the stock is a rating of the relative risk of the two investment alternatives.  For the data given, U.S. Oil is judged to be the riskier investment.  The investment firm avoids placing excessive high-risk investment.  For the current portfolio, an upper limit of 700 has been set for the total risk index.  The firm has also set an upper limit of 1000 shares for the U.S. Oil stock.  How many shares of each stock should be purchased to maximize the total annual return? Answer the following questions based solely on the information in the sensitivity report.
a)   Which constraints are binding?  Why 

b)  If the client has another $1000 to invest, by how much would the total return increase? For how many addition thousands of dollars would this increase per thousand apply?
c) What effect would increasing the total risk to 800 have on the total return?

d) By how much would the total return increase if the limit on shares of US Oil is increased to 1500 shares?
e) If the return per share for US Oil increases to $4, how would the optimal number of shares change and what will be the new rate of return?
f) If the return per share for HUB increases to $7, how would the optimal number of shares change and what will be the new rate of return?

